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COMMERCE

Paper — 2.6 : Quantitative Analysis for Business Decisions - |

Time : 3 Hours

Max. Marks : 70

Instruction: Answer should be written either completely in English or

Kannada.

SECTION-A

Answer any five sub-questions. Each sub-question carries two marks. (5%2=10)

15

a) Whatis Tabulation ?

b) Mention any four types of statistical averages.

c¢) List any four methods of studying variation.

d) Mention two methods of measuring Consumer Price Index.
e) What is meant by skewness ?

f) If X =12, Z = 13 find Median.

g) Mention any two functions of statistics.

SECTION-B

Answer any three of the following. Each question carries six marks.

2.

Calculate Median from the following data :
Marks : 50 40 30 20 10
Frequency: 10 40 20 12 16

Which company has greater variability of salary ?
Company ‘X’ Company ‘Y’

No. of employees : 250 200
Standard Deviation : 500 600
Average monthly salary (X): 20,000 25,000

a) Find X if CV =40%, S.D. =12.
b) Find Co-efficient of Mean Deviation, if X = 120 and M.D. = 12.

(3%x6=18)
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. 5. Fromthe following data compute Quartile Deviation (QD) and its co-efficient.

Marks : 1020 20-30 3040 40-50 50-60
No of students : 15 18 20 =g 6
6. Calculate SD from the following :
Size : 25 35 45 55 65 75
Frequency : 28 38 50 45 40 20
SECTION-C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. From the following compute coefficient of skewness.
Weeklywages:  40-60 60-80 80-100 100-120 120-140 140-160 160-180
No. of Workers : 6 10 18 30 15 12 7

8. Following are the marks obtained by two students Suraj and Dheeraj in ten tests
of 100 marks each :

| Tests 1 2508 4 5 6 T 8 9 10
Marks Suraj 40 80 /6 48 “B2-nid2 68 1667 60.1.56
obtainedby | Dheeraj 48 75 54 60 63 69 72 51 72 60

Find who is the better scorer and if consistency is the criterion for awarding prize
who should get the prize ?

9. Calculate Mode and Median from the following data.
x: 010 1020 20-30 30-50 50-70 70-100

f: 5 10 I 40 62 60
10. Compute Fisher’s Ideal Index from the following and show how it satisfies TRT
and FRT.
2012 2013
Commodities Price Quantity Price Quantity
M 8 80 10 110
N 10 20 12 108
O 16 256 20 340
P 20 420 24 456
Q 25 550 32 704
11. Draw less than and more than ogives for the following data.
Salary : 0-40 40-80 80-120 120-160 160-200 200-240 240-280
No. of employees: 9 36 o 147 87 22 8

Also locate the value of median and verify the answer.
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1 39N CIRPTHTT W SVB- IR YUBOR. B3 WuH-TI[I ST ewoericd.  (5x2=10)

1

=
a) TeIeFTED WOTTERD ?
b) cdRPTRTUL T, ROSRO0IR), ISR
C) QWOICDR) BT oD BRTIB 4 WANYS) S9R.
d) 2098008 TR L3S Reed 08 BIWINEO SRR ?
e) ©BBOS 20T3e ?
f) RooR0 = 12, RIS 0RO = 13 &SN WGIB SO PR
g) ROPTRT O3RRYTTTR OB FIOF TIF, SR

RPIN -V
33 3N C3RRTIRSR R BINER ugoR. B3 BITT6 0N (3x6=18)
2. 33 3INIBOOT WG TR, FOTROEEOWD. _
EHOBNSD ¢ 50 40 30 20 10
w3 : 10 0 2 12 16
3. O3 TERF S0 BOUWTTY, VU 3RoT0D RBreas 50BOWTIBE ?
A B
FOF BT K0S, ! : 250 200
AOFR, WRHDE: 500 600
ooR0 done Bowd () : 20,000 25,000
4. a) CV=40%, d0ra, BR0000s =12, X =2
b) RoPRO BRIBHE = 12, BORD = 120 ST FTIRO VWD ABRETSRD, 7
5. 3Bor RIEO0TS LB B DBUSODR, B 93T RBMOEIBRI, BT SoRON0.
20BN : 10-20 20-30 3040 40-50 50-60
SprndResy: 15 18 U500 9 6
6. QOFE, WrTONFIN BOBIRONO.
3, : 25 35 45 55 65 75
3: B = 50 45 0 D
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10.

11.

QN — 2

199N ctngcacide Bt FEeR cugorn B8 B9314 sosnsd (3x14=42)
7.

BN DTTPors DHRS rore o8y om0,

b pleln k4TI 40-60 60-80 80-100 100-120 120-140 140-160 160-180
m@mfﬁo.ﬁ : 6 10 18 30 15 12 7

) waeﬁﬁ%#eﬁ H@a’%wo @oﬁﬁ@ﬁ QT T LPENSD BT Do) Peves TRET osnsh
wéodoéﬁ

Boeg Hoad Lic B oiadosad  WBIS8205%: 540
Salectod m5w40807648527268566056
eo#mb} Qeces® 48 75 54 60 63 69 T2 51 72 60
OB LV 0T DGIFOR, TIND WRIBH DS A0 BRRecRTT, cIROR WEIRRT
mwo

3918 8L T 0BT WRINIB ZTIKO ==y =, BT, TOROGHROND.

X: 0-10 10-20 20-30 30-50 50-70 70- 100
f: 5 10 17 40 62 60

2 39N TYRO0T GRS T3 N..@Z%Oﬁdm BOROLROMD. 933 Ber TRT=22) FRT
"’aeﬁﬁn’vdab 3wﬁmmdowdm 3603,
2012 2013
Ealaptots 233 O WS TJo=»e
M 8 80 10 110
N : 10 90 12 108
O 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

3on ﬁmwdoaﬁ T 0BD0T, 200 6ea:radéod>® ej’:fcmas‘ P02 ﬁmeofm 3
uﬁeas‘ffa‘r esc?b wé’t:b Einiold) mc; ﬁa’sﬁa rbcb@w =02 tma’ddds m’ae&»

Toww : 040 4080 80120 120-160 160-200 200-240 240-280
Sgggded: 9 % 91 147 g 22 8




